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Experiment 4: Superposition Principle
Objectives:


1. To investigate the superposition principle (i.e. understand how the voltage across (or the current through) any element in the multi-independent source circuit can be obtained using the superposition principle). 
Experimental Setup & Procedure

1. Set up the circuit in Figure 1.

2. Measure the currents flowing through R1, R3 and R4 (Note the direction of the currents).

3. Measure the voltage across the resistors R1, R3 and R4 (Note the polarities of the voltages).

4. Disconnect the voltage source at C, then link points C and D together.

5. Repeat step 2 and 3.

6. Remove the link between points C and D and replace it with the +15V source.

7. Disconnect the voltage source at A, then link points A and D together.

8. Repeat step 2 and 3.

Question 1: Copy Figure 1 onto your report and mark the values and directions of the currents and voltages measured in steps 1 and 2.

Question 2: Copy Figure 1 onto your report and modify it accordingly to step 4.

Question 3: Mark the values and directions of the currents and voltages measured in step 5 in the new circuit obtained in Question 2.

Question 4: Copy Figure 1 onto your report and modify it accordingly to step 7.

Question 5: Mark the values and directions of the currents and voltages measured in step 8 in the new circuit obtained in Question 4.

Question 6: Use the superposition principle to calculate the currents flowing through R1, R3, R4. Compare the calculated values to the measured ones (Remember to show your calculation).
Question 7: Use the superposition principle to calculate the voltage across R1, R3, R4. Compare the calculated values to the measured ones (Remember to show your calculation).
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